
SAP ABAP table OIGSH {TD Shipment History}

OIGSH

CLIENT [CLNT (3)]

SHNUMBER [CHAR (10)]

HIS_ITM [NUMC (3)]

SEQ_NR [INT1 (3)]

VEH_NR [NUMC (3)]

WERKS [CHAR (4)]

OIGS

CLIENT [CLNT (3)]

SHNUMBER [CHAR (10)] OIGSH-SHNUMBER = OIGS-SHNUMBER 0..N

0..N

OIGSV

CLIENT [CLNT (3)]

SHNUMBER [CHAR (10)]

VEH_NR [NUMC (3)]

 OIGSH-VEH_NR = OIGSV-VEH_NR 
0..N

0..N

T000

MANDT [CLNT (3)]

 OIGSH-CLIENT = T000-MANDT 

0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 OIGSH-WERKS = T001W-WERKS 

0..N

0..N


